g uH —REENRRILSBHERETERR

[H4EI10A 5
<L DK > <KE DK > <HEEZ DK >
EEEICAHZEW 58.27 29/ 4= R4.10.6 T RRZETEAR R4.10.31
IREZH 17.60 KE®RER R4.10.6 HEEEEDIRIE i
BEESH—F) 40.67 jz pH 72| |EKkIHF0EE =
BEENTR A 0.62 7K |BOD(mg/L) 200 | [ERAEtMDIRE i
S PUEEY 3-{0) 12.16 SS(mg/L) 20| |EHBELERFEOEER i
BYCHE® 71.05 ZHEHAEmMg/L) 15.0 BEKE-BEDEBICKDEERE i
BrE(m) 72.00 29/ = R4.10.6
1B AE(m) 143.05 KEREH R4.10.6 <THREEHOEERKRT>
18 pH 74
i
7k |BOD(mg/L) 1.1
SS(mg/L) 140
EREFEmg/D) 13.0
29/ 4= R4.10.6
KEREH R4.10.6
1111;» BRIEER(ER)(MS/m) 5.6
K| BRIGER(THR(MS/m) 10.0
B A AU (EiR)(me/L) 1.7
EBIEMAA (T i) (me/L) 3.7




